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Answer key 
 

Éléments de réponses Barème 

I. Reading Comprehension 6 marks 

1 c 1 mark 
2 b. He is washing his car 1 mark 

1. In the living-room 1 mark 
a. He is doing his homework 1 mark 
b. He is preparing the salad 1 mark 

3 2. The food is black because they do not go to see 
the fish again. 

1 mark 

II. Language 8 marks 
1 on - looks -  is 1x3 = 3 marks 

2 farm – rabbits – eating  1x3 = 3 marks 

3 north - old 1x2 = 2 marks 

III. Writing 6 marks 
1 a+ 5 0.5 mark 

b+4 0.5 mark 
c+1 0.5 mark 
d+2 0.5 mark 

2  

Sentences Criteria 
C1 C2 C3 

Sentence 1 0.25 0.5 0.25 
Sentence 2 0.25 0.5 0.25 
Sentence 3 0.25 0.5 0.25 
Sentence 4 0.25 0.5 0.25 

C1: 0.25 x 4 = 1 mark 

C2: 0.5 x 4 = 2 marks 

C3: 0.25 x 4 = 1 mark 
 

 
 

Criterion 1 (C1) Adherence to task and content adequacy ( 1 mark) 

Criterion 2 (C2) Lexical appropriacy and grammar accuracy (2 marks) 

Criterion 3 (C3) Mechanical accuracy (punctuation, capitalization and spelling (1 mark) 
 

 الأنقليزية اختبار:
 التونسية الجمهورية

 وزارة ال��بية

 دقيقة 45 ا�حصة :
 الاختبار التقييمي الموحد للثلاثي الثالث لتلاميذ السنة السادسة من المرحلة الابتدائية

 2019/  2018:    السنة الدراسية 


